Extra Credit Problems
Law of Sines and Law of Cosines

1. Find the lengths of the diagonals of a parallelogram whose sides measure 14.3 cm and 17.2 cm. and which has one angle with measure 37°10ˈ. Answer: 10.4cm. and 29.9cm.9o

2. Find the measure of the angles of an isosceles triangle with base 18 units long and legs 15 units long.

3. A triangular plot of land has two sides with lengths of 400 ft and 600 ft that intersect at an angle of 46°20ˈ. Find the perimeter of the triangular plot of land.

4. Two automobiles leave the city at the same time and travel along straight highways that differ in direction by 84°. If their speeds are 60mi/hr and 45mi/hr, respectively, approximately how fare apart are the cars at the end of 20 min?
5. To determine the distance between two points A and B, a surveyor chooses a point C that is 375 yards from A and 530 yards from B. If angle A has measure 49°30ˈ, approximate the distance between A and B.

